Budget and Council Tax Resolutions 2023/24

Summary of Budget 2023/24

	2023/24 Budget Requirement £	2023/24 Council Tax at Band D £	2022/23 Budget Requirement £
Mid Suffolk District Council			
General Fund Budget Requirement District Council Purposes	14,592,322	363.65	12,906,453
Estimated Parish/Town Council Precepts (net of Council Tax Support Scheme Grant)	3,452,480	86.04	3,212,636
	18,044,803	449.69	16,119,089
Business Rates	(7,176,629)	(178.85)	(4,795,740)
Rural Services Delivery Grant	(507,822)	(12.66)	(454,370)
Revenue Support Grant (RSG)	(132,145)	(3.29)	-
Services Grant	(91,978)	(2.29)	(156,780)
Lower Tier Services Grant	-	-	(102,010)
Funding Guarantee Grant	(450,211)	(11.22)	-
Adjustment for anticipated surplus on Business Rates Collection Fund	789,596	19.68	(438,030)
Adjustment for anticipated surplus on Council Tax Collection Fund	(137,604)	(3.43)	(292,560)
MSDC's basic amount under section 33 of the 1992 Local Government Act	10,338,009	257.63	9,879,599
LESS: <i>Estimated</i> Parish/Town Council Precepts	(3,452,480)	(86.04)	(3,212,636)
Basic amount under s. 34 of the 1992 Act for dwellings to which no special items relate. (see section 3 below)	6,885,529	171.59	6,666,963
Anticipated Suffolk County Council precept requirement (see section 7 below)	60,047,187	1,496.43	55,906,675
Anticipated Police and Crime Commissioners Requirement (see section 7 below)	10,538,142	262.62	9,623,166
Estimated Basic amount for areas where there are no special items.	77,470,858	1,930.64	72,196,804

Council Tax Resolution 2023/24

- 1. It is a requirement for the billing authority to calculate a council tax requirement for the year as opposed to its budget requirement.
- 2. It be noted that the Council, as delegated to the Section 151 Officer, calculated the taxbase:
 - a) for the whole Council area as 40,126.96 and,
 - b) for dwellings in those parts of its area to which a Parish precept relates as further detailed in Appendix B.
- 3. The council tax requirement for the Council's own purposes for 2023/24 (excluding Parish precepts) is £6,885,529.
- 4. That the following amounts be calculated for the year 2023/24 in accordance with Sections 31 to 36 of the Act:

(a)	Being the aggregate of the amounts which the Council estimates for the items set out in Section 31A)(2) of the Act taking into account all precepts issued to it by Parish Councils (gross expenditure)	57,936,619
(b)	Being the aggregate of the amounts which the Council estimates for items set out in Section 31(A)(3) of the Act (gross income)	(47,598,609)
-		
(c)	Being the amount by which the aggregate at 3 a) above exceeds the aggregate at 3 b) above, calculated by the Council, in accordance with Section 31A(4) of the Act, as its Council Tax requirement for the year. (Item R in the formula in Section 31A(4) of the Act) (net expenditure)	10,338,009
1	·	
(d)	Being the amount at 4(c) above (item R) all divided by item T (2(a) above), calculated by the Council, in accordance with Section 31B(1) of the Act, as the basic amount of its council tax for the year (including Parish precepts) (average council tax)	257.63
(e)	Being the aggregate amount of all special items (Parish precepts) referred to in Section 34(1) of the Act (as per Appendix B)	3,452,480
	,	
(f)	Being the amount at 4(d) above less the result given by dividing the amount at 4(e) above by item T (2(a) above) calculated by the Council, in accordance with Section 34(2) of the Act, as the basic amount of its council tax for the year for dwellings in those parts of its area to which no Parish precept relates (basic council tax)	171.59

- 5. To note that Suffolk County Council and the Police and Crime Commissioner have issued precepts to the Council in accordance with section 40 of the Local Government Finance Act 1992 for each category of dwellings in the Council's area as indicated in Section 7 below.
- 6. That the Council in accordance with Sections 30 and 36 of the Local Government Finance Act 1992, hereby sets the aggregate amounts shown in the table below and further in Appendix B as the amounts of council tax for 2023/24 for each part of its area and for each of the categories of dwellings.
- 7. Since the Cabinet meeting on 6 February 2023, the precept levels of other precepting bodies have been received. These are detailed below:

a) Suffolk County Council

Suffolk County Council has set their precept at £60,047,187 which results in a Band D council tax of £1,496.43.

b) Suffolk Police and Crime Commissioner

The Police and Crime Commissioner has set their precept at £10,538,142. This results in a Band D council tax of £262.62.

c) Mid Suffolk District Council

The General Fund council tax requirement for Mid Suffolk District Council is based on no increase in council tax remaining at £171.59 for a Band D property.

d) Aggregated council tax requirement

The aggregated council tax requirement for Suffolk County Council, Suffolk Police and Crime Commissioner and Mid Suffolk District Council results in a Band D council tax of £1,930.64.

	Suffolk	Police and	Mid Suffolk	Aggregated
Valuation	County	Crime	District	Council Tax
Band	Council	Commissioner	Council	Requirement
	£	£	£	£
Α	997.62	175.08	114.39	1,287.09
В	1,163.89	204.26	133.46	1,501.61
С	1,330.16	233.44	152.52	1,716.12
D	1,496.43	262.62	171.59	1,930.64
E	1,828.97	320.98	209.72	2,359.67
F	2,161.51	379.34	247.85	2,788.70
G	2,494.05	437.70	285.98	3,217.73
Н	2,992.86	525.24	343.18	3,861.28

8. The Town and Parish Council Precepts for 2023/24 are detailed further in Appendix B and total £3,452,480. The increase in the average Band D for Town and Parish Councils is 3.89% and results in an average Band D council tax figure of £86.04 for 2023/24.

Council Taxbase for Parishes and District - 2023/24

Parish	COUNCIL	TAX BASE	% Change
Falisii	2022/23	2023/24	70 Citalige
Akenham	23.79	23.56	-0.97%
Ashbocking	143.28	140.51	-1.93%
Ashfield-cum-Thorpe	98.75	98.34	-0.42%
Aspall	30.31	29.61	-2.31%
Athelington	20.07	20.57	2.49%
Bacton	474.32	526.08	10.91%
Badley	36.00	36.38	1.06%
Badwell Ash	331.70	368.62	11.13%
Barham	534.00	540.17	1.16%
Barking Battisford	181.77	180.71 266.53	-0.58%
Baylham	262.88 128.38	122.58	1.39% -4.52%
Bedfield	166.50	169.28	1.67%
Bedingfield	99.18	99.08	-0.10%
Beyton	311.18	312.89	0.55%
Botesdale	289.50	306.11	5.74%
Braiseworth	31.31	31.35	0.13%
Bramford	954.64	975.72	2.21%
Brome and Oakley	226.87	223.51	-1.48%
Brundish	79.55	79.74	0.24%
Burgate	69.40	68.34	-1.53%
Buxhall	167.08	173.46	3.82%
Claydon	762.58	766.12	0.46%
Coddenham	282.04	282.15	0.04%
Combs	311.09	316.26	1.66%
Cotton	246.37	242.63	-1.52%
Creeting St Mary	339.28	338.63	-0.19%
Creeting St Peter	101.56	99.41	-2.12%
Crowfield Darmsden	161.84 17.27	163.94 17.19	1.30% -0.46%
Debenham	832.74	839.58	0.82%
Denham	83.43	84.65	1.46%
Drinkstone	285.98	281.76	-1.48%
Earl Stonham	262.15	264.88	1.04%
Elmswell	1,662.91	1,809.91	8.84%
Eye	801.43	802.80	0.17%
Felsham	181.57	177.62	-2.18%
Finningham	214.38	216.29	0.89%
Flowton	49.67	49.39	-0.56%
Framsden	141.07	136.66	-3.13%
Fressingfield	432.92	436.71	0.88%
Gedding	54.59	54.11	-0.88%
Gipping	26.62	26.98	1.35%
Gislingham	467.88	472.67	1.02%
Gosbeck Great Ashfield	88.72	90.04	1.49% -0.18%
Great Blakenham	153.09 838.71	152.82 856.18	2.08%
Great Bricett	218.28	217.63	-0.30%
Great Finborough	323.12	331.54	2.61%
Harleston	67.21	69.27	3.07%
Haughley	604.83	716.33	18.43%
Helmingham	68.43	68.91	0.70%
Hemingstone	109.55	105.22	-3.95%
Henley	232.37	229.89	-1.07%
Hessett	211.58	212.41	0.39%
Hinderclay	128.61	132.45	2.99%
Horham	128.27	128.46	0.15%
Hoxne	369.00	375.82	1.85%
Hunston	56.73	56.99	0.46%
Kenton	99.25	98.17	-1.09%
Langham	42.55	43.81	2.96%
Laxfield	423.24	461.71	9.09%

5	COUNCIL	TAX BASE	% Change	
Parish	2022/23	2023/24		
Little Blakenham	111.69	110.90	-0.71%	
Little Finborough	26.23	25.25	-3.74%	
Mellis	205.05	210.53	2.67%	
Mendham	180.88	183.74	1.58%	
Mendlesham	583.68	569.34	-2.46%	
Metfield	178.42	172.65	-3.23%	
Mickfield	90.08	92.16	2.31%	
Monk Soham	76.71	78.08	1.79%	
Needham Market	1,709.93	1,778.87	4.03%	
Nettlestead	38.63	38.96	0.85%	
Norton Occold	461.00 208.41	462.92 205.61	0.42% -1.34%	
Offton	155.09	153.17	-1.24%	
Old Newton with Dagworth	442.40	439.40	-0.68%	
Onehouse	319.41	390.81	22.35%	
Palgrave	386.53	393.09	1.70%	
Pettaugh	89.35	86.99	-2.64%	
Rattlesden	412.30	406.68	-1.36%	
Redgrave	264.64	265.66	0.39%	
Redlingfield	53.80	52.33	-2.73%	
Rickinghall Inferior	169.59	168.49	-0.65%	
Rickinghall Superior	333.86	330.06	-1.14%	
Ringshall	268.97	266.50	-0.92%	
Rishangles	38.38	40.95	6.70%	
Shelland	26.01	27.78	6.81%	
Somersham	254.36	279.66	9.95%	
Southolt	29.39	30.11	2.45%	
Stoke Ash	82.87	82.57	-0.36%	
Stonham Aspal	242.80	251.48	3.57%	
Stonham Parva	136.69	138.33	1.20%	
Stowlangtoft	89.13	89.53	0.45%	
Stowmarket	6,812.28	6,940.17	1.88%	
Stowupland Stradbroke	843.48	906.29	7.45%	
Stuston	573.96 87.56	579.22 88.27	0.92% 0.81%	
Syleham	95.95	97.59	1.71%	
Tannington	41.34	41.79	1.09%	
Thorndon	343.70	343.87	0.05%	
Thornham Magna	82.26	81.04	-1.48%	
Thornham Parva	28.94	27.50	-4.98%	
Thrandeston	76.22	70.67	-7.28%	
Thurston	1,380.20	1,645.31	19.21%	
Thwaite	61.87	62.62	1.21%	
Tostock	220.26	225.19	2.24%	
Walsham-le-Willows	483.79	534.79	10.54%	
Wattisfield	201.02	199.87	-0.57%	
Westhorpe	83.88	84.52	0.76%	
Wetherden	246.24	250.46	1.71%	
Wetheringsett-cum-Brockford	287.04	288.13	0.38%	
Weybread	183.86	184.81	0.52%	
Whitton	31.32	71.85	129.41%	
Wickham Skeith Wilby	138.77	136.66	-1.52%	
Willisham	137.84 106.75	130.77 109.50	-5.13% 2.58%	
Wingfield	147.72	147.26	-0.31%	
Winston	70.15	68.50	-2.35%	
Woolpit	838.06	918.41	9.59%	
Worlingworth	328.61	331.75	0.96%	
Wortham	343.37	349.88	1.90%	
Wyverstone	146.02	141.38	-3.18%	
Yaxley	221.11	225.16	1.83%	
TOTAL	38,853.22	40,126.96	3.28%	

Precepts and Council Tax Band D for Parishes

	2022/23			2023/24			
	Parish		Council Tax	Parish		Council Tax	Increase /
Parish	Precept £	Tax Base	Band D £	Precept £	Tax Base	Band D £	Decrease (-)
Akenham		23.79			23.56		0.00
Ashbocking	2,000.00	143.28	13.96	2,100.00	140.51	14.95	0.99
Ashfield-cum-Thorpe	3,096.58	98.75	31.36	3,251.41	98.34	33.06	1.70
Aspall	-	30.31	-	-	29.61	-	0.00
Athelington	405.89	20.07	20.22	414.08	20.57	20.13	-0.09
Bacton	28,905.85	474.32	60.94	34,687.00	526.08	65.93	4.99
Badley	-	36.00	-	-	36.38	-	0.00
Badwell Ash	23,995.00	331.70	72.34	26,666.00	368.62	72.34	0.00
Barham	27,300.00	534.00	51.12	31,249.00	540.17	57.85	6.73
Barking Battisford	12,395.00 13,050.00	181.77 262.88	68.19 49.64	13,500.00 13,893.00	180.71 266.53	74.71 52.13	6.52 2.49
Baylham	13,030.00	128.38	49.04	2,000.00	122.58	16.32	16.32
Bedfield	4,100.00	166.50	24.62	5,100.00	169.28	30.13	5.51
Bedingfield	1,620.00	99.18	16.33	1,620.00	99.08	16.35	0.02
Beyton	23,186.01	311.18	74.51	23,186.01	312.89	74.10	-0.41
Botesdale	44,100.00	289.50	152.33	49,200.00	306.11	160.73	8.40
Braiseworth	-	31.31	-	-	31.35	1	0.00
Bramford	76,926.00	954.64	80.58	78,625.00	975.72	80.58	0.00
Brome and Oakley	7,500.00	226.87	33.06	8,000.00	223.51	35.79	2.73
Brundish	4,125.00	79.55	51.85	4,259.00	79.74	53.41	1.56
Burgate	3,093.64	69.40	44.58	3,153.75	68.34	46.15	1.57
Buxhall Claydon	6,345.33 40,728.25	167.08 762.58	37.98 53.41	6,763.01 35,070.90	173.46 766.12	38.99 45.78	1.01 -7.63
Coddenham	32,223.84	282.04	114.25	33,428.76	282.15	118.48	4.23
Combs	9,000.00	311.09	28.93	9,000.00	316.26	28.46	-0.47
Cotton	8,329.79	246.37	33.81	8,400.00	242.63	34.62	0.81
Creeting St Mary	11,130.00	339.28	32.80	11,686.00	338.63	34.51	1.71
Creeting St Peter	5,200.00	101.56	51.20	5,720.00	99.41	57.54	6.34
Crowfield	2,800.00	161.84	17.30	2,850.00	163.94	17.38	0.08
Darmsden	-	17.27	-	-	17.19	-	0.00
Debenham	80,675.00	832.74	96.88	81,338.00	839.58	96.88	0.00
Denham	3,418.00	83.43	40.97	3,712.00	84.65	43.85	2.88
Drinkstone	9,197.00	285.98	32.16	10,042.00	281.76	35.64	3.48
Earl Stonham	6,808.00	262.15	25.97	7,330.00	264.88	27.67	1.70
Elmswell Eye	189,555.00 131,076.00	1,662.91 801.43	113.99 163.55	206,312.00 139,858.00	1,809.91 802.80	113.99 174.21	0.00 10.66
Felsham	6,946.00	181.57	38.26	6,795.00	177.62	38.26	0.00
Finningham	7,243.00	214.38	33.79	7,243.00	216.29	33.49	-0.30
Flowton	-	49.67	-		49.39	-	0.00
Framsden	9,940.22	141.07	70.46	10,129.00	136.66	74.12	3.66
Fressingfield	33,000.00	432.92	76.23	34,650.00	436.71	79.34	3.11
Gedding	1,045.00	54.59	19.14	1,045.00	54.11	19.31	0.17
Gipping	1,623.51	26.62	60.99	1,737.26	26.98	64.39	3.40
Gislingham	16,372.00	467.88	34.99	13,176.36	472.67	27.88	-7.11
Gosbeck	1,500.00	88.72	16.91	1,500.00	90.04	16.66	-0.25
Great Ashfield	2,700.00	153.09	17.64	2,800.00	152.82	18.32	0.68
Great Blakenham	48,478.00	838.71	57.80	49,488.00	856.18	57.80	0.00
Great Bricett Great Finborough	10,500.00 14,136.00	218.28 323.12	48.10 43.75	10,815.00 14,505.00	217.63 331.54	49.69 43.75	1.59 0.00
Harleston	1,892.00	67.21	28.15	1,950.00	69.27	28.15	0.00
Haughley	49,442.00	604.83	81.75	58,557.00	716.33	81.75	0.00
Helmingham	2,600.00	68.43	38.00	2,600.00	68.91	37.73	-0.27
Hemingstone	2,380.00	109.55	21.73	5,112.72	105.22	48.59	26.86
Henley	12,437.85	232.37	53.53	12,327.60	229.89	53.62	0.09
Hessett	10,349.00	211.58	48.91	11,488.00	212.41	54.08	5.17
Hinderclay	5,150.00	128.61	40.04	5,150.00	132.45	38.88	-1.16
Horham	2,594.11	128.27	20.22	2,585.92	128.46	20.13	-0.09
Hoxne	14,000.00	369.00	37.94	14,700.00	375.82	39.11	1.17
Hunston	-	56.73	-	- 4 600 05	56.99	-	0.00
Kenton	1,600.00	99.25	16.12	1,600.00	98.17	16.30	0.18
Langham Laxfield	46,357.00	42.55 423.24	109.53	46,357.00	43.81 461.71	100.40	-9.13
Little Blakenham	6,828.00	111.69	61.13	7,150.00	110.90	64.47	-9.13 3.34
Little Finborough	- 0,028.00	26.23	-	7,130.00	25.25	- 04.47	0.00
=o i inbolougii		20.20	-		20.20	-	0.00

Precepts and Council Tax Band D for Parishes

	2022/23 Parish		Council Tax	2023/24 Parish		Council Tax	Increase /
Parish	Precept	Tax Base	Band D	Precept	Tax Base	Band D	Decrease (-)
	£		£	£		£	£
Mellis	7,900.00	205.05	38.53	7,900.00	210.53	37.52	-1.01
Mendham	6,600.00	180.88	36.49	8,444.00	183.74	45.96	9.47
Mendlesham	44,000.00	583.68	75.38	51,000.00	569.34	89.58	14.20
Metfield	5,750.00	178.42	32.23	6,250.00	172.65	36.20	3.97
Mickfield	4,436.25	90.08	49.25	6,500.00	92.16	70.53	21.28
Monk Soham	2,250.00	76.71	29.33	2,850.00	78.08	36.50	7.17
Needham Market	140,739.72	1,709.93	82.31	150,811.35	1,778.87	84.78	2.47
Nettlestead Norton	25,000.00	38.63 461.00	54.23	29,000.00	38.96 462.92	62.65	0.00 8.42
Occold	8.800.00	208.41	42.22	8,800.00	205.61	42.80	0.58
Offton	5,923.08	155.09	38.19	6,414.40	153.17	41.88	3.69
Old Newton with Dagworth	26,981.28	442.40	60.99	28,293.26	439.40	64.39	3.40
Onehouse	15,180.00	319.41	47.53	18,600.00	390.81	47.59	0.06
Palgrave	17,500.00	386.53	45.27	19,000.00	393.09	48.33	3.06
Pettaugh	2,976.00	89.35	33.31	2,750.00	86.99	31.61	-1.70
Rattlesden	22,632.00	412.30	54.89	22,324.00	406.68	54.89	0.00
Redgrave	21,800.00	264.64	82.38	24,156.00	265.66	90.93	8.55
Redlingfield	-	53.80	=	· -	52.33	-	0.00
Rickinghall Inferior	10,375.16	169.59	61.18	10,679.54	168.49	63.38	2.20
Rickinghall Superior	20,424.84	333.86	61.18	20,920.46	330.06	63.38	2.20
Ringshall	8,462.00	268.97	31.46	9,222.00	266.50	34.60	3.14
Rishangles	-	38.38	-	-	40.95	-	0.00
Shelland	-	26.01	-	-	27.78	-	0.00
Somersham	18,187.00	254.36	71.50	18,442.00	279.66	65.94	-5.56
Southolt	-	29.39	-	-	30.11	-	0.00
Stoke Ash	3,956.85	82.87	47.75	7,094.00	82.57	85.91	38.16
Stonham Aspal	5,500.00	242.80	22.65	5,500.00	251.48	21.87	-0.78
Stonham Parva	6,692.00	136.69	48.96	6,840.00	138.33	49.45	0.49
Stowlangtoft	3,300.00	89.13	37.02	3,300.00	89.53	36.86	-0.16
Stowmarket	1,217,536.97	6,812.28	178.73	1,301,173.66	6,940.17	187.48	8.75
Stowupland	46,137.00	843.48	54.70	50,564.00	906.29	55.79	1.09
Stradbroke	38,549.00	573.96	67.16	39,874.00	579.22	68.84	1.68
Stuston	470.00 3,922.00	87.56 95.95	5.37	650.00	88.27 97.59	7.36 41.66	1.99 0.78
Syleham Tannington	3,922.00	41.34	40.88	4,066.00	41.79	41.00	0.00
Thorndon	21,500.00	343.70	62.55	22,000.00	343.87	63.98	1.43
Thornham Magna	1,000.00	82.26	12.16	1,200.00	81.04	14.81	2.65
Thornham Parva	300.00	28.94	10.37	300.00	27.50	10.91	0.54
Thrandeston	2,500.00	76.22	32.80	3,000.00	70.67	42.45	9.65
Thurston	125,480.00	1,380.20	90.91	152,920.00	1,645.31	92.94	2.03
Thwaite	2,954.15	61.87	47.75	5,380.00	62.62	85.92	38.17
Tostock	10,474.00	220.26	47.55	9,920.00	225.19	44.05	-3.50
Walsham-le-Willows	22,250.00	483.79	45.99	24,596.00	534.79	45.99	-0.00
Wattisfield	10,638.00	201.02	52.92	11,489.00	199.87	57.48	4.56
Westhorpe	3,525.00	83.88	42.02	3,600.00	84.52	42.59	0.57
Wetherden	12,890.00	246.24	52.35	12,890.00	250.46	51.47	-0.88
Wetheringsett-cum-Brockford	9,830.00	287.04	34.25	12,500.00	288.13	43.38	9.13
Weybread	5,100.00	183.86	27.74	5,952.00	184.81	32.21	4.47
Whitton	1,672.75	31.32	53.41	3,289.10	71.85	45.78	-7.63
Wickham Skeith	3,723.00	138.77	26.83	4,035.00	136.66	29.53	2.70
Wilby	5,954.00	137.84	43.20	5,690.00	130.77	43.51	0.31
Willisham	4,076.92	106.75	38.19	4,585.60	109.50	41.88	3.69
Wingfield	6,126.00	147.72	41.47	6,200.00	147.26	42.10	0.63
Winston	850.00	70.15	12.12	1,250.00	68.50	18.25	6.13
Woolpit	60,000.00	838.06	71.59	65,000.00	918.41	70.77	-0.82
Worlingworth	13,625.82	328.61	41.47	13,762.00	331.75	41.48	0.01
Wywerstone	15,306.36	343.37	44.58	16,146.25	349.88	46.15	1.57
Wyverstone	3,230.00 6,250.00	146.02	22.12 28.27	3,230.00 6,250.00	141.38 225.16	22.85 27.76	0.73
Yaxley	0,250.00	221.11	26.21	0,250.00	223.10	21.10	-0.51

Total 3,212,636.02 38,853.22 5,277.62 3,452,480.40 40,126.96 5,605.79 328.17

Precept for each banding by Parish

	Valuation Bands							
	Α	В	С	D	Е	F	G	Н
Mid Suffolk District Council	114.39	133.46	152.52	171.59	209.72	247.85	285.98	343.18
Suffolk County Council	997.62	1,163.89	1,330.16	1,496.43	1,828.97	2,161.51	2,494.05	2,992.86
Police and Crime Commissioner	175.08	204.26	233.44	262.62	320.98	379.34	437.70	525.24
Aggregate of Council Tax Requirements	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28

			Total An	nount of Cou	ıncil Tax for	2023/24		
	6/9 ths	7/9 ths	8/9 ths		11/9 ths	13/9 ths	15/9 ths	18/9 ths
Parish								1111
	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H
	£	£	£	£	£	£	£	£
Akenham	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28
Ashbocking	1,297.06	1,513.24	1,729.41	1,945.59	2,377.94	2,810.30	3,242.65	3,891.18
Ashfield-cum-Thorpe	1,309.13	1,527.32	1,745.51	1,963.70	2,400.08	2,836.46	3,272.83	3,927.40
Aspall	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28
Athelington	1,300.51	1,517.27	1,734.02	1,950.77	2,384.27	2,817.78	3,251.28	3,901.54
Bacton	1,331.05	1,552.89	1,774.73	1,996.57	2,440.25	2,883.93	3,327.62	3,993.14
Badley	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28
Badwell Ash	1,335.32	1,557.87	1,780.43	2,002.98	2,448.09	2,893.19	3,338.30	4,005.96
Barham	1,325.66	1,546.60	1,767.55	1,988.49	2,430.38	2,872.26	3,314.15	3,976.98
Barking	1,336.90	1,559.72	1,782.53	2,005.35	2,450.98	2,896.62	3,342.25	4,010.70
Battisford	1,321.85	1,542.15	1,762.46	1,982.77	2,423.39	2,864.00	3,304.62	3,965.54
Baylham	1,297.97	1,514.30	1,730.63	1,946.96	2,379.62	2,812.28	3,244.93	3,893.92
Bedfield	1,307.18	1,525.04	1,742.91	1,960.77	2,396.50	2,832.22	3,267.95	3,921.54
Bedingfield	1,297.99	1,514.33	1,730.66	1,946.99	2,379.65	2,812.32	3,244.98	3,893.98
Beyton	1,336.49	1,559.24	1,781.99	2,004.74	2,450.24	2,895.74	3,341.23	4,009.48
Botesdale	1,394.25	1,626.62	1,859.00	2,091.37	2,556.12	3,020.87	3,485.62	4,182.74
Braiseworth	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28
Bramford	1,340.81	1,564.28	1,787.75	2,011.22	2,458.16	2,905.10	3,352.03	4,022.44
Brome and Oakley	1,310.95	1,529.45	1,747.94	1,966.43	2,403.41	2,840.40	3,277.38	3,932.86
Brundish	1,322.70	1,543.15	1,763.60	1,984.05	2,424.95	2,865.85	3,306.75	3,968.10
Burgat	1,317.86	1,537.50	1,757.15	1,976.79	2,416.08	2,855.36	3,294.65	3,953.58
Buxhall	1,313.09	1,531.93	1,750.78	1,969.63	2,407.33	2,845.02	3,282.72	3,939.26
Claydon	1,317.61	1,537.22	1,756.82	1,976.42	2,415.62	2,854.83	3,294.03	3,952.84
Coddenham	1,366.08	1,593.76	1,821.44	2,049.12	2,504.48	2,959.84	3,415.20	4,098.24
Combs	1,306.07	1,523.74	1,741.42	1,959.10	2,394.46	2,829.81	3,265.17	3,918.20
Cotton	1,310.17	1,528.54	1,746.90	1,965.26	2,401.98	2,838.71	3,275.43	3,930.52
Creeting St Mary	1,310.10	1,528.45	1,746.80	1,965.15	2,401.85	2,838.55	3,275.25	3,930.30
Creeting St Peter	1,325.45	1,546.36	1,767.27	1,988.18	2,430.00	2,871.82	3,313.63	3,976.36
Crowfield	1,298.68	1,515.13	1,731.57	1,948.02	2,380.91	2,813.81	3,246.70	3,896.04
Darmsden	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28
Debenham	1,351.68	1,576.96	1,802.24	2,027.52	2,478.08	2,928.64	3,379.20	4,055.04
Denham	1,316.33	1,535.71	1,755.10	1,974.49	2,413.27	2,852.04	3,290.82	3,948.98
Drinkstone	1,310.85	1,529.33	1,747.80	1,966.28	2,403.23	2,840.18	3,277.13	3,932.56
Earl Stonham	1,305.54	1,523.13	1,740.72	1,958.31	2,393.49	2,828.67	3,263.85	3,916.62
Elmswell	1,363.09	1,590.27	1,817.45	2,044.63	2,498.99	2,953.35	3,407.72	4,089.26
Eye	1,403.23	1,637.11	1,870.98	2,104.85	2,572.59	3,040.34	3,508.08	4,209.70
Felsham	1,312.60	1,531.37	1,750.13	1,968.90	2,406.43	2,843.97	3,281.50	3,937.80
Finningham	1,309.42	1,527.66	1,745.89	1,964.13	2,400.60	2,837.08	3,273.55	3,928.26
Flowton	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28
Framsden	1,336.51	1,559.26	1,782.01	2,004.76	2,450.26	2,895.76	3,341.27	4,009.52
Fressingfield	1,339.99	1,563.32	1,786.65	2,009.98	2,456.64	2,903.30	3,349.97	4,019.96

Precept for each banding by Parish

	Valuation Bands							
	Α	В	С	D	E	F	G	Н
Mid Suffolk District Council	114.39	133.46	152.52	171.59	209.72	247.85	285.98	343.18
Suffolk County Council	997.62	1,163.89	1,330.16	1,496.43	1,828.97	2,161.51	2,494.05	2,992.86
Police and Crime Commissioner	175.08	204.26	233.44	262.62	320.98	379.34	437.70	525.24
Aggregate of Council Tax Requirements	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28

		Total Amount of Council Tax for 2023/24									
	6/9 ths	7/9 ths	8/9 ths		11/9 ths	13/9 ths	15/9 ths	18/9 ths			
Parish	111111					22.2.2.2					
	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H			
	£	£	£	£	£	£	£	£			
Gedding	1,299.97	1,516.63	1,733.29	1,949.95	2,383.27	2,816.59	3,249.92	3,899.90			
Gipping	1,330.02	1,551.69	1,773.36	1,995.03	2,438.37	2,881.71	3,325.05	3,990.06			
Gislingham	1,305.68	1,523.29	1,740.91	1,958.52	2,393.75	2,828.97	3,264.20	3,917.04			
Gosbeck	1,298.20	1,514.57	1,730.93	1,947.30	2,380.03	2,812.77	3,245.50	3,894.60			
Great Ashfield	1,299.31	1,515.86	1,732.41	1,948.96	2,382.06	2,815.16	3,248.27	3,897.92			
Great Blakenham	1,325.63	1,546.56	1,767.50	1,988.44	2,430.32	2,872.19	3,314.07	3,976.88			
Great Bricett	1,320.22	1,540.26	1,760.29	1,980.33	2,420.40	2,860.48	3,300.55	3,960.66			
Great Finborough	1,316.26	1,535.64	1,755.01	1,974.39	2,413.14	2,851.90	3,290.65	3,948.78			
Harleston	1,305.86	1,523.50	1,741.15	1,958.79	2,394.08	2,829.36	3,264.65	3,917.58			
Haughley	1,341.59	1,565.19	1,788.79	2,012.39	2,459.59	2,906.79	3,353.98	4,024.78			
Helmingham	1,312.25	1,530.95	1,749.66	1,968.37	2,405.79	2,843.20	3,280.62	3,936.74			
Hemingstone	1,319.49	1,539.40	1,759.32	1,979.23	2,419.06	2,858.89	3,298.72	3,958.46			
Henley	1,322.84	1,543.31	1,763.79	1,984.26	2,425.21	2,866.15	3,307.10	3,968.52			
Hessett	1,323.15	1,543.67	1,764.20	1,984.72	2,425.77	2,866.82	3,307.87	3,969.44			
Hinderclay	1,313.01	1,531.85	1,750.68	1,969.52	2,407.19	2,844.86	3,282.53	3,939.04			
Horham	1,300.51	1,517.27	1,734.02	1,950.77	2,384.27	2,817.78	3,251.28	3,901.54			
Hoxne	1,313.17	1,532.03	1,750.89	1,969.75	2,407.47	2,845.19	3,282.92	3,939.50			
Hunston	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28			
Kenton	1,297.96	1,514.29	1,730.61	1,946.94	2,379.59	2,812.25	3,244.90	3,893.88			
Langham	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28			
Laxfield	1,354.03	1,579.70	1,805.37	2,031.04	2,482.38	2,933.72	3,385.07	4,062.08			
Little Blakenham	1,330.07	1,551.75	1,773.43	1,995.11	2,438.47	2,881.83	3,325.18	3,990.22			
Little Finborough	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28			
Mellis	1,312.11	1,530.79	1,749.48	1,968.16	2,405.53	2,842.90	3,280.27	3,936.32			
Mendham	1,317.73	1,537.36	1,756.98	1,976.60	2,415.84	2,855.09	3,294.33	3,953.20			
Mendlesham	1,346.81	1,571.28	1,795.75	2,020.22	2,469.16	2,918.10	3,367.03	4,040.44			
Metfield	1,311.23	1,529.76	1,748.30	1,966.84	2,403.92	2,840.99	3,278.07	3,933.68			
Mickfield	1,334.11	1,556.47	1,778.82	2,001.17	2,445.87	2,890.58	3,335.28	4,002.34			
Monk Soham	1,311.43	1,530.00	1,748.57	1,967.14	2,404.28	2,841.42	3,278.57	3,934.28			
Needham Market	1,343.61	1,567.55	1,791.48	2,015.42	2,463.29	2,911.16	3,359.03	4,030.84			
Nettlestead	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28			
Norton	1,328.86	1,550.34	1,771.81	1,993.29	2,436.24	2,879.20	3,322.15	3,986.58			
Occold	1,315.63	1,534.90	1,754.17	1,973.44	2,411.98	2,850.52	3,289.07	3,946.88			
Offton	1,315.01	1,534.18	1,753.35	1,972.52	2,410.86	2,849.20	3,287.53	3,945.04			
Old Newton with Dagwort	1,330.02	1,551.69	1,773.36	1,995.03	2,438.37	2,881.71	3,325.05	3,990.06			
Onehouse	1,318.82	1,538.62	1,758.43	1,978.23	2,417.84	2,857.44	3,297.05	3,956.46			
Palgrave	1,319.31	1,539.20	1,759.08	1,978.97	2,418.74	2,858.51	3,298.28	3,957.94			
Pettaugh	1,308.17	1,526.19	1,744.22	1,962.25	2,398.31	2,834.36	3,270.42	3,924.50			
Rattlesden	1,323.69	1,544.30	1,764.92	1,985.53	2,426.76	2,867.99	3,309.22	3,971.06			
Redgrave	1,347.71	1,572.33	1,796.95	2,021.57	2,470.81	2,920.05	3,369.28	4,043.14			
Redlingfield	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28			
Rickinghall Inferior	1,329.35	1,550.90	1,772.46	1,994.02	2,437.14	2,880.25	3,323.37	3,988.04			
Rickinghall Superior	1,329.35	1,550.90	1,772.46	1,994.02	2,437.14	2,880.25	3,323.37	3,988.04			

Precept for each banding by Parish

		Valuation Bands						
	Α	В	C	D	E	F	G	Н
Mid Suffolk District Council	114.39	133.46	152.52	171.59	209.72	247.85	285.98	343.18
Suffolk County Council	997.62	1,163.89	1,330.16	1,496.43	1,828.97	2,161.51	2,494.05	2,992.86
Police and Crime Commissioner	175.08	204.26	233.44	262.62	320.98	379.34	437.70	525.24
Aggregate of Council Tax Requirements	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28

	ıncil Tax for	cil Tax for 2022/23						
	6/9 ths	7/9 ths	8/9 ths		11/9 ths	13/9 ths	15/9 ths	18/9 ths
Parish								
	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H
	£	£	£	£	£	£	£	£
Ringshall	1,310.16	1,528.52	1,746.88	1,965.24	2,401.96	2,838.68	3,275.40	3,930.48
Rishangle	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28
Shelland	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28
Somersham	1,331.05	1,552.90	1,774.74	1,996.58	2,440.26	2,883.95	3,327.63	3,993.16
Southolt	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28
Stoke Ash	1,344.37	1,568.43	1,792.49	2,016.55	2,464.67	2,912.79	3,360.92	4,033.10
Stonham Aspal	1,301.67	1,518.62	1,735.56	1,952.51	2,386.40	2,820.29	3,254.18	3,905.02
Stonham Parva	1,320.06	1,540.07	1,760.08	1,980.09	2,420.11	2,860.13	3,300.15	3,960.18
Stowlangtoft	1,311.67	1,530.28	1,748.89	1,967.50	2,404.72	2,841.94	3,279.17	3,935.00
Stowmarket	1,412.08	1,647.43	1,882.77	2,118.12	2,588.81	3,059.51	3,530.20	4,236.24
Stowupland	1,324.29	1,545.00	1,765.72	1,986.43	2,427.86	2,869.29	3,310.72	3,972.86
Stradbroke	1,332.99	1,555.15	1,777.32	1,999.48	2,443.81	2,888.14	3,332.47	3,998.96
Stuston	1,292.00	1,507.33	1,722.67	1,938.00	2,368.67	2,799.33	3,230.00	3,876.00
Syleham	1,314.87	1,534.01	1,753.16	1,972.30	2,410.59	2,848.88	3,287.17	3,944.60
Tannington	1,287.09	1,501.61	1,716.12	1,930.64	2,359.67	2,788.70	3,217.73	3,861.28
Thorndon	1,329.75	1,551.37	1,773.00	1,994.62	2,437.87	2,881.12	3,324.37	3,989.24
Thornham Magna	1,296.97	1,513.13	1,729.29	1,945.45	2,377.77	2,810.09	3,242.42	3,890.90
Thornham Parva	1,294.37	1,510.09	1,725.82	1,941.55	2,373.01	2,804.46	3,235.92	3,883.10
Thrandeston	1,315.39	1,534.63	1,753.86	1,973.09	2,411.55	2,850.02	3,288.48	3,946.18
Thurston	1,349.05	1,573.90	1,798.74	2,023.58	2,473.26	2,922.95	3,372.63	4,047.16
Thwaite	1,344.37	1,568.44	1,792.50	2,016.56	2,464.68	2,912.81	3,360.93	4,033.12
Tostock	1,316.46	1,535.87	1,755.28	1,974.69	2,413.51	2,852.33	3,291.15	3,949.38
Walsham-le-Willows	1,317.75	1,537.38	1,757.00	1,976.63	2,415.88	2,855.13	3,294.38	3,953.26
Wattisfield	1,325.41	1,546.32	1,767.22	1,988.12	2,429.92	2,871.73	3,313.53	3,976.24
Westhorpe	1,315.49	1,534.73	1,753.98	1,973.23	2,411.73	2,850.22	3,288.72	3,946.46
Wetherden	1,321.41	1,541.64	1,761.88	1,982.11	2,422.58	2,863.05	3,303.52	3,964.22
Wetheringsett-cum-Brockford	1,316.01	1,535.35	1,754.68	1,974.02	2,412.69	2,851.36	3,290.03	3,948.04
Weybread	1,308.57	1,526.66	1,744.76	1,962.85	2,399.04	2,835.23	3,271.42	3,925.70
Whitton	1,317.61	1,537.22	1,756.82	1,976.42	2,415.62	2,854.83	3,294.03	3,952.84
Wickham Skeith	1,306.78	1,524.58	1,742.37	1,960.17	2,395.76	2,831.36	3,266.95	3,920.34
Wilby	1,316.10	1,535.45	1,754.80	1,974.15	2,412.85	2,851.55	3,290.25	3,948.30
Willisham	1,315.01	1,534.18	1,753.35	1,972.52	2,410.86	2,849.20	3,287.53	3,945.04
Wingfield	1,315.16	1,534.35	1,753.55	1,972.74	2,411.13	2,849.51	3,287.90	3,945.48
Winston	1,299.26	1,515.80	1,732.35	1,948.89	2,381.98	2,815.06	3,248.15	3,897.78
Woolpit	1,334.27	1,556.65	1,779.03	2,001.41	2,446.17	2,890.93	3,335.68	4,002.82
Worlingworth	1,314.75	1,533.87	1,753.00	1,972.12	2,410.37	2,848.62	3,286.87	3,944.24
Wortham	1,317.86	1,537.50	1,757.15	1,976.79	2,416.08	2,855.36	3,294.65	3,953.58
Wyverstone	1,302.33	1,519.38	1,736.44	1,953.49	2,387.60	2,821.71	3,255.82	3,906.98
Yaxley	1,305.60	1,523.20	1,740.80	1,958.40	2,393.60	2,828.80	3,264.00	3,916.80

Budget, Funding and Council Tax Requirements

- 1) The precept requirements of Parish / Town Councils must be aggregated with the requirement of this authority to arrive at an average Council Tax figure for the district / parish purposes. This figure however is totally hypothetical and will not be paid by any taxpayer (other than by coincidence).
- 2) The County and the Police and Crime Commissioner's precept requirements are added to this.
- 3) The legally required calculation is set out below:
 - 1) The General Fund Budget requirement for the District Council purposes in 2023/24 will be £171.59 and is based on no increase to Council Tax.
 - 2) The County Council precept requirement will be £1,496.43 for a Band D property in 2023/24, an increase of £57.51 (3.99%).
 - The Police and Crime Commissioner's precept requirement will be £262.62, an increase of £14.94 (6.03%).
 - 4) At the time of preparing this report, not all Parish / Town Councils have supplied formal notification of their 2023/24 precept. The final figures will be reported to Council.
- 4) Each £1 of council tax collected is distributed as per chart 8 below.

Chart 8: Where the council tax collected goes



- Mid Suffolk is a billing authority and collects council tax and non-domestic rates on behalf of the other precepting authorities i.e. Suffolk County Council, Suffolk Police and Crime Commissioner and Parish / Town Councils. The dates that monies collected are paid over to the County Council, and the Police and Crime Commissioner ("precept dates") need to be formally agreed under Regulation 5(i) of the Local Authorities (Funds) (England) Regulations 1992.
- 6) Established practice is for payments to be made in 12 equal instalments on the 15th of each month or the next banking day if the 15th falls on a weekend or bank holiday. Accordingly, the precept dates applicable for 2023/24 are expected to be as follows:

17 April 2023	15 May 2023	15 June 2023	17 July 2023
15 August 2023	15 September 2023	16 October 2023	15 November 2023
15 December 2023	15 January 2024	15 February 2024	15 March 2024